
��������

����� � ���

����	

�
 %��	 	 #. ������ ���	�� 
�����
�� ���� �/.-� 0���	�� 
�


�� ����� ���� ���� �	� �	�� 
�
��  .�
	���
�� �����
� �� ������� �������� ������

����	

�
 01	�� 
�	 �	� �	�� &	��	�� 	 ��������� �	���	�

c =
2016

ab
+

2016

ba
.

�
���
������� �
����� ������

����� � ����

����	
��
 01	�� ������� �	���	� n� 
� ��������	��	 
� ���	 
�&�2��

����� ��� ���� n+ 11�
���
�� ���

�
�� ������

����	
��
 3� �	������ ���4����� 	�
���� XOY �� 
����
��� ���
����

A ∈ (OX '� B ∈ (OY 	����� ��
�� AO = OB� �����
��& C ∈ (OA) '� D ∈
∈ (OB) 
� OC = OD� 5�� M '� N �����	
��� ����������� AC '� DB� 6����
{T} = AD ∩ BC� 5�� (TT ′ ����
��	��	 ����� ����
������ (TO� 0���	�� 
�

(TT ′ ���� ����
��	��	 ���4����� MTN �

����
� ���
� ��  ���
� ���
�� ������

����� � �����

����	
��
 	7 5�� ������4��� ABC 	&��
 �������� ���4������� �	��

A,B,C 
���
� ����������	�� 
� �������� *� )� +� 01	�� �������� ���4�������
������4����� ABC�

�7 %� 
���������
 FC� F ∈ (AB) '� DA� D ∈ (BC) 	����� ��
��

�(�CAD) =
2

3
�(�DAB) '� �(�ACF ) =

2

5
�(�FCB)�

8�������	�� 
� ������4������ BFC '� BCA ���� 	������	 '� ���
�2	��

�	���	 ������4����� ABD�
!��� "���
�� ������

����	
	�
 0���	�� 
� �������
√
32016 − 1 ���� ��	����	��

∗ ∗ ∗

)



����� � ������

����	
	�
 8�������4��� AEFB '� ����	��� AEDC ���� �� ��	��


������� '� DE ⊥ AB� 8	
� CD = 1 
� '� EF = 3 
�� 
	�
��	���

	7 
���	��	 
� �	 ���
��� E �	 
��	��	 FC9

�7 
���	��	 
� �	 ���
��� B �	 ��	��� EFC�

∗ ∗ ∗

����	
��
 5�� ������� A = (n2+19n+15)(n2 +19n+23)+15� ��
�
n ���� ����� �	���	��

	7 0���	�� 
� A+ 1 ���� ����	��� ���� ����� �	���	��

�7 %
����� ������� A ��� ����	 ���� ���
�� 
� �	��� ������ �	���	��

�	� �	�� 
	 ��

�������� #
���� �	
	�����

#


